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OPERATIONS ON NUMBERS

MATCHING GAME
The goal of the puzzle is to make correct pairs of questions and answers with a minimalamount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

Natural selection is a mechanism for generating an exceedingly high degree of improbability.
Ronald Aylmer Fisher, English statistician.Make the calculations. Assign the correct value to each of the given expressions.
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A 43 11024−4 4100−3720249100050163254B 43 11024−4 4100−3720249100050163254
C 43 11024−4 4100−3720249100050163254D 43 11024−4 4100−3720249100050163254
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Perfect, keep it up!You are the champion!That was excellent!Awesome! Keep it up!Great, now you can try solving one of
the Millennium Prize problems!

You are so close to victory,
don’t give up!
Almost there.

I’m sure you’ll even do better next time.
That’s like when you end up second in a
competition when you could have won it.

Great! Only millimetres
away from perfect.

Hermione’s top of the class title is
almost on the line.

You can do better! You have to work
harder!

Not great, not terrible.
You are somewhere in the middle.

Don’t worry, your result is more than
half correct.

Not bad! In some areas you haven’t got
enough knowledge yet.

You understand this a bit,
but you still need to practice.

You avoided an F, but that doesn’t mean
you don’t have to study more.

Pity, you might need to practice more.That was a close shave! Study more,
next time you might not be that lucky to

pass.

Keep trying. It will be better next time.You got it. Don’t throw in the sponge!We should blame the weather!Let’s pretend it never happened.Do you know that you have to click
on the right answer?

The awkward moment, when the only
thing on your exam you know is your

name.

Mission failed. We’ll get them next time.




